MATH 1101 – Fall 2003

Practice TEST 3

NAME_______________________________________________________

Directions: Show work and write clearly. Use complete sentences. Correct answers with only partial work may receive only partial credit.

1. An investment decreases by 3% per year for 5 years. By what total percent does it decrease?

2. You have a choice of following two investment opportunities. Which one would you choose. Explain.

Account #1: $500 with 3% interest compounded yearly.

Account #2: $300 with 4% interest compounded yearly.

3. You start with 650 items. How many would you have after a 30% decrease followed by a 30% increase?

4. Find the formulas for the following exponential functions:


a. 
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	x
	3
	4
	7
	9

	g(x)
	– 4.394
	– 5.712
	– 12.550
	– 21.209



b. 

5. Solve 
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6. Factor AND find the zeros of 
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7. The initial population of possum in a state park is 2500 in 1990. The population is growing exponentially by 2.5% per year. Let t be the number of years after 1990.


a. Find the formulas for the population of possum.


b. What will be the population in 2005?


c. When will the population reach 6000?

8. Is the graph of 
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 from x = 1 to x = 9 concave up or concave down. Explain using rates of change.
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